Single Action Link Clamp Lever Design Dimensions / Accessories model LM/LJ

© Link Lever Design Dimension
% Reference for designing link lever.

N A£0.02 HEHT

(.

M=2002

B { : 77
\\ // -
K ¢ DH7
G
77
§: l //l/// O
§< /f
7

s

© Calculation List of Link Lever Design Dimension

(mm)

Corresponding Model No. LM0360 LM0400 LM0480 LM0550 LM0650 LM0750 1J0902 LJ1052

A 14.5 16 18.5 21 24.5 30 36 44

B 12.5 14 16 20 25 32 38 45

e 10-3 1263 1265 1653 1963 2263 2563 3264

D 5 +8A012 6 +8.012 6 +8A012 6 +8,012 8 +8.015 10 +8.015 12 +8.018 15 +g.018

E 5 +8AO12 6 +8,012 6 +g.012 8 +8.015 10 +8.015 12 +8.018 15 +8.018 18 +8A018

F 5 6 6 8 10 n 13 16

G 10 11.5 13 125 16 20 24 28

H R2.5 R3 R3 R4 R5 R5.5 R6.5 R8

J 10 12 13 13 17.5 22 26 30.5

K R4.5 R5.5 R6 R6 R8 R10 R1 R13

L 4.5 5.5 6 6 8 10 n 13

M 2.5 2.5 35 6 7.5 9.5 13 16

N 4.5 5.5 6 6 8 10 n 13

Notes
1. Design the link lever length according to the performance graph.
2. If the link lever is not in accordance with the dimension shown above, performance may be degraded and damage can occur.
3. Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the mounting pin for lever.
(Please refer to each external dimension of LM/LJ for the dimensions ¢ AD and ¢AE.)

517



Link Clamp Index Model No. indication| Performance External Lever Design . Cautions
Digest P.447 | Cross Section | Specifications Curve Dimensions Dimensions TSI P.543 K.SMEK

Harmony in Innovation

®
@ Accessories : Link Lever (LZ-LJ1) ' aWA H LT E C ?i%:fower

KNOWLEDGE | TRUST | SUCCESS

Pneumatic Series

Model No. Indication (mm)
Model No. |LZ0360-LJ1/LZ0400-LJ1/LZ0480-LJ1/LZ0550-LJ1|LZ0650-LJ1{LZ0750-LJ1{LZ0900-LJ1|LZ1050-LJ1
L Z O 4 8 O - |_ J 1 Soriespondng | | M0360 | LM0400 | LM0480 | LM0550 | LM0650 | LM0750 | LJ0902 | LJ1052 I —
Size (Refertothe Design No. A 43 48 54 64 74.5 88.5 102.5 125 Hydraulic Unit
graph on the right ) (Revision Number) B 109, 12 8, 12 8, 169, 19 9, 229, 25 8, 328,
. . : . . . . . Manual Operati
C 125 | 14 16 20 25 32 38 45 e e oten
D 5 6 6 8 10 1 13 16
E 125 | 145 16 16.5 21 255 | 305 36 Cauticns/Othets
: 7 F R25 | R3 R3 R4 RS | RS5 | R65 | RS
ER AN G 10 12 13 13 17.5 22 26 305
oA < . . Hole Clamp
I :F . &j H 10.5 13 13 17 22 25 31 38 SFA
J 7 75 8 10 13 16 22 27 SFC
E K 14.5 16 18 22 27 31 40 47 )
. " L 9 10 10 15 20 30 45 60  >vng f}'j:"’
X0. X X X1. X1. X1. X X2.
¢ T ¢ Unw __H ﬁut(3types) M | M5X0.8| M6X1 | M6X1 |M8X1.25 M10X1.5Mi2x175 M16X2 |M20x25 e
[ N 4.5 5.5 6 6 8 10 1 13 LHS
L p 145 16 185 21 245 30 36 44 LHW
%}Ew ] ] Q 19 205 | 235 29 32 375 | 415 51 e
v >,\ 5 i « TLA-2
o D . ? ! ~ R 45 | 55 6 6 8 10 n 13 e
A = S 25 25 35 6 75 95 13 16 T
LL/ \ T 5 +8,012 6 +8.012 6 +g.012 6 +8,012 8 +8.015 -IO +8.015 12 +8,018 —IS +8.018
N Pt0.0Z Q :J QuenChing U 5 +8A012 6 +8.012 6 +g.012 8 +g.015 10 +3A015 12 +g.018 15 +g.018 18 +8.018
HRC 50 or more T kA
Notes 1. Material 545C ke
2. Please use the attached pin (equivalent to ¢ ADf6. ¢ AEf6. HRC60) LKW
as mounting pin for lever.
TMA-2
TMA-1
Work Support
@ Accessories : Material Link Lever (LZ-LJ2) 37
TNC
.. (mm) TC
Model No. Indication ModelNo, [L20360-L12[L20400-L12|L20480-L12[L20550-12 L206S0-L12]L20750-L12 L0900-L2[ L21050-L12 At sersing
B ift inaer
ﬁ%&iﬁmdmg LM0360 | LM0400 | LM0480 | LM0550 | LM0650 | LM0750 | LJ0902 | LJ1052 YI_T
L Z 048 O - L \] 2 A 65 75 85 90 105 110 160 220
Size (Refertothe Design No. B 105, 1285 1285 1603 1985 | 2285 | 25.9; 32 84 Compact Cylinder
graph on the right ) (Revision Number) C 125 14 16 20 25 3 38 45 o
D 5 6 6 8 10 1 13 16 LR
E 125 | 145 | 16 | 165 | 21 | 255 | 305 | 36 =
- - F R2.5 R3 R3 R4 R5 R5.5 R6.5 R8 DR
olH] B G 10 12 13 13 175 22 26 30.5 DS
: N 45 55 6 6 8 10 1 13 or
P 14.5 16 18.5 21 24.5 30 36 44
E Block Cylinder
A R 4.5 55 6 6 8 10 1 13 T oea
S 25 25 35 6 7.5 95 13 16 Tosc
éTw ®Uw +0.012 +0.012 40012 40012 +0.015 40015 40018 +0.018
T 5% 6% 6" 60 8% 10 %o 1275 15 %%
_ U 5 +0012 6 902 6 o2 § 0015 | 10 *0IS| ) +0018| 5 +0018| (g <00l Control Valve
S BZL
Yl M {§ ) Notes 1. Material $45C e
N == 2.1f necessary, the front end should be additionally machined. BZX/JZG
3. Please use the attached pin (equivalent to ¢ ADf6. ¢ AEf6. HRC60)
N | pxoo2 as mounting pin for lever. Pallet Clamp
Vs
VT
Expansion
Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

518


s_wahl
WAHLTEC


529

Double Action Link Clamp Lever Design Dimensions / Accessories model TMA-2
© Link Lever Design Dimension
% Reference for designing link lever.
N A£002 ¢ EH7
/o o
// bl
[ =
{ /]
77
- 1 /] @
77
o // -
K ¢ DH7
G
/, 7
g l [/
L /,/ / )
N\ /
/g/ !
© Calculation List of Link Lever Design Dimension
(mm)
Corresponding Model No. TMA0250 TMA0400 TMA0600 TMA1000 TMA1600 TMA2500 TMA3200
A 16 18.5 21 245 30 36 44
B 14 16 20 25 32 38 45
C 12.85 12.03 1603 1903 2243 25.85 3284
D 6 +8.012 6 +8A012 6 +8,012 8 +8.015 10 +8.015 12 +8.018 15 +g.018
E 6 +8,012 6 +g.012 8 +8.015 10 +8.015 12 +8.018 15 +8.018 18 +8A018
F 6 6 8 10 n 13 16
G s 13 12,5 16 20 2 28
H R3 R3 R4 RS RS.5 R6.5 R8
J 12 13 13 175 2 26 305
K RS.5 R6 R6 R8 R10 R11 R13
L 5.5 6 6 8 10 1 13
M 25 35 6 75 95 13 16
N 55 6 6 8 10 1 13

Notes

1. Please design the link lever length according to the performance curve.
2. If the link lever is not in accordance with the dimension shown above, performance may be degraded and damage can occur.

3. Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the mounting pin for lever.

(Please refer to each external dimension of TMA for the dimensions ¢ AD and ¢AE.)



Link Clamp Index Model No. Indication| Performance External Lever Design . Cautions
Digest P.447 | Cross Section | Specifications Curve Dimensions Dimensions TSI P.543 K.SMEK

Harmony in Innovation

®
@ Accessories : Link Lever (LZ-LJ3) ' aWA H LT E C ?i%:fower

KNOWLEDGE | TRUST | SUCCESS

Pneumatic Series

Model No. Indication (mm)
Model No. 1.Z0400-LJ3|LZ0480-LJ3|LZ0550-LJ3 |LZ0650-LJ3 |LZ0750-LJ3 | LZ0900-LJ3| LZ1050-LJ3
LZ O 4 8 O - L J 3 Corresponding Model No. | TMAQ250 | TMA0400 | TMAO600 | TMAT000 | TMAT600 | TMA2500| TMA3200
~ = Valve /Coupler
Size (Refertpthe Desigp No. A 48 54 64 74.5 88.5 102.5 125 Hydraulic Unit
graph on the right) (Revision Number) B 125, 129, 1695 19 .55 229, 2595 329, - o ;
eration
C 14 16 20 25 32 38 45 e i
D 6 6 8 10 1 13 16
E 145 16 16.5 21 255 | 305 36 Cauticns/Othets
F R3 R3 R4 R5 R5.5 R6.5 R8
o SDOI Fo) /ED G 12 13 13 175 | 22 %6 | 305 iecame
k K 23 26 32 39 47 56 65 SFA
L 10 10 15 20 30 45 60 SFC
E M M6X1 | M6XT [M8X1.25/M10X1.5M12X1.75| M16X2 |M20X2.5 )
. M N 55 6 6 8 10 1 13 Swing f}'j:"’
Lo NutBtypes P 16 | 185 | 21 | 245 | 30 | 36 | 44 e
6 Tw é Uw ﬁ% Q 205 | 235 | 29 32 375 | 415 51 LHS
(L R 55 6 6 8 10 " 13 LHW
%} 8 ~ s 25 | 35 | 6 75 | 95 | 13 | 16 TG
b (U] }\ W ‘ T 6 +8‘012 6 +g.012 6 +8,012 8 +8‘015 -Io +g.015 12 +8,018 -IS +8‘018 TLA-2
\\J = | | U 6 +8.012 6 +g.012 8 +g.015 10 +8,015 —Iz +g.015 —IS +g.018 18 +8.018 ¥tii?
SRL
" — ) Notes 1. Material S45C
N p=o Q Quenching in (equi
" "HRC50 or more 2. Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) ST e
as the mounting pin for lever. LKC
LKW
LM/LJ
TMA-1
Work Support
@ Accessories : Material Link Lever (LZ-LJ2) 37
TNC
o (mm) 1€
Model No. Indication Model No. [L20400-L12[L20480-L12]LZ0850-L12 | L20650-L12L20750-L12 [LZ0900-LI2[LZIOS0-L12 At Sering
t
Coresponding Model No. | TMAQ250 | TWMA0400 | TMAOG0O | TMAT000 | TMAT600 | TMA2500 | TMA3200 1,
LZ 048 O - L\J 2 A 75 85 90 105 110 160 220
Size (Refertothe Design No. B 1285 1285 1603 1985 | 2285 | 25.8; 32 84 Compact Cylinder
graph on the right ) (Revision Number) C 14 16 20 25 32 38 45 i
D 6 6 8 10 1 13 16 LR
E 145 | 16 | 165 | 21 | 255 | 305 | 36 =
- ‘ F R3 R3 R4 Rs | RS5 | R65 | RS DR
olH] N G 12 13 13 175 | 22 2% | 305 Ds
‘ N 55 6 6 8 10 11 13 ot
P 16 18.5 21 24.5 30 36 44
E Block Cylinder
A R 5.5 6 6 8 10 1 13 T oea
S 25 35 6 7.5 95 13 16 osc
éTw ®Uw +0.012 40012 40012 +0.015 40015 40018 +0.018
T 6o 6 "o 6" 870 10 %o 12 %% 15 *§
- U 6 +8.012 6 +8.012 8 +8,015 10 +8,015 12 +8.018 15 +8,018 18 +g.018 Control Valve
N\ _ S BZL
Yl Y {§ i) Notes  1.Material S45C B
N == 2.1f necessary, the front end should be additionally machined. BZX/JZG
3. Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60)
N | pxoo2 as the mounting pin for lever. Pallet Clamp
Vs
VT
Expansion
Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

530


s_wahl
WAHLTEC


541

Single Action Link Clamp Lever Design Dimensions / Accessories model TMA-1
© Link Lever Design Dimension
% Refer to it for designing the link lever.
N A£0.02 @ EH7
/o o
// bl
[ =
{ [/
77
- 1 /] @
/7
o // -
K ¢ DH7
G
/, 7
g \ L/
/
/g/ !
© Calculation List of Link Lever Design Dimension
(mm)
Corresponding Model No. TMA0250 TMA0400 TMA0600 TMA1000 TMA1600 TMA2500 TMA3200
A 16 18.5 21 245 30 36 44
B 14 16 20 25 32 38 45
C 12.85 12.03 1603 1903 2243 25.85 3284
D 6 +8.012 6 +8A012 6 +8,012 8 +8.015 10 +8.015 12 +8.018 15 +g.018
E 6 +8,012 6 +g.012 8 +8.015 10 +8.015 12 +8.018 15 +8.018 18 +8A018
F 6 6 8 10 n 13 16
G s 13 12,5 16 20 2 28
H R3 R3 R4 RS RS.5 R6.5 R8
J 12 13 13 175 2 26 305
K R5.5 R6 R6 R8 R10 R11 R13
L 5.5 6 6 8 10 1 13
M 25 35 6 75 95 13 16
N 55 6 6 8 10 1 13

Notes

1. Please design the link lever length according to the performance curve.
2. If the link lever is not in accordance with the dimension shown above, performance may be degraded and damage can occur.

3. Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) as the mounting pin for lever.

(Please refer to each external dimension of TMA for the dimensions ¢ AD and ¢AE.)



Link Clamp Index Model No. Indication| Performance External Lever Design . .
Digest P.447 | Cross Section | Specifications Curve Dimensions Dimensions Accessories Cautions K.SMEK

Harmony in Innovation

®
@ Accessories : Link Lever (LZ-LJ3) ' aWA H LT E C ?i%:fower

KNOWLEDGE | TRUST | SUCCESS

Pneumatic Series

Model No. Indication (mm)
Model No. 1.Z0400-LJ3|LZ0480-LJ3|LZ0550-LJ3 |LZ0650-LJ3 |LZ0750-LJ3 | LZ0900-LJ3| LZ1050-LJ3
LZ O 4 8 O - L J 3 Corresponding Model No. | TMAQ250 | TMA0400 | TMAO600 | TMAT000 | TMAT600 | TMA2500| TMA3200
~ = Valve /Coupler
Size (Refertpthe Desigp No. A 48 54 64 74.5 88.5 102.5 125 Hydraulic Unit
graph on the right) (Revision Number) B 125, 129, 1695 19 .55 229, 2595 329, - o ;
eration
C 14 16 20 25 32 38 45 e i
D 6 6 8 10 1 13 16
E 145 16 16.5 21 255 | 305 36 Cauticns/Othets
F R3 R3 R4 R5 R5.5 R6.5 R8
o SDOI Fo) /ED G 12 13 13 175 | 22 %6 | 305 iecame
k K 23 26 32 39 47 56 65 SFA
L 10 10 15 20 30 45 60 SFC
E M M6X1 | M6XT [M8X1.25/M10X1.5M12X1.75| M16X2 |M20X2.5 )
. M N 55 6 6 8 10 1 13 Swing f}'j:"’
Lo NutBtypes P 16 | 185 | 21 | 245 | 30 | 36 | 44 e
6 Tw é Uw ﬁ% Q 205 | 235 | 29 32 375 | 415 51 LHS
(L R 55 6 6 8 10 " 13 LHW
%} 8 ~ s 25 | 35 | 6 75 | 95 | 13 | 16 TG
b (U] }\ W ‘ T 6 +8‘012 6 +g.012 6 +8,012 8 +8‘015 -Io +g.015 12 +8,018 -IS +8‘018 TLA-2
\\J = | | U 6 +8.012 6 +g.012 8 +g.015 10 +8,015 —Iz +g.015 —IS +g.018 18 +8.018 ¥tii?
SRL
" — ) Notes 1. Material S45C
N p=o Q Quenching in (equi
" "HRC50 or more 2. Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60) ST e
as the mounting pin for lever. LKC
LKW
LM/LJ
TMA-2
Work Support
@ Accessories : Material Link Lever (LZ-LJ2) 37
TNC
o (mm) 1€
Model No. Indication Model No. [L20400-L12[L20480-L12]LZ0850-L12 | L20650-L12L20750-L12 [LZ0900-LI2[LZIOS0-L12 At Sering
t
Coresponding Model No. | TMAQ250 | TWMA0400 | TMAOG0O | TMAT000 | TMAT600 | TMA2500 | TMA3200 1,
LZ 048 O - L\J 2 A 75 85 90 105 110 160 220
Size (Refertothe Design No. B 1285 1285 1603 1985 | 2285 | 25.8; 32 84 Compact Cylinder
graph on the right ) (Revision Number) C 14 16 20 25 32 38 45 i
D 6 6 8 10 1 13 16 LR
E 145 | 16 | 165 | 21 | 255 | 305 | 36 =
- ‘ F R3 R3 R4 Rs | RS5 | R65 | RS DR
olH] N G 12 13 13 175 | 22 2% | 305 Ds
‘ N 55 6 6 8 10 11 13 ot
P 16 18.5 21 24.5 30 36 44
E Block Cylinder
A R 5.5 6 6 8 10 1 13 T oea
S 25 35 6 7.5 95 13 16 osc
éTw ®Uw +0.012 40012 40012 +0.015 40015 40018 +0.018
T 6o 6 "o 6" 870 10 %o 12 %% 15 *§
- U 6 +8.012 6 +8.012 8 +8,015 10 +8,015 12 +8.018 15 +8,018 18 +g.018 Control Valve
N\ _ S BZL
Yl Y {§ i) Notes  1.Material S45C B
N == 2.1f necessary, the front end should be additionally machined. BZX/JZG
3. Please use the attached pin (equivalent to ¢ ADf6, ¢ AEf6, HRC60)
N | pxoo2 as the mounting pin for lever. Pallet Clamp
Vs
VT
Expansion
Locating Pin
VL
VM
V)
VK

Pull Stud Clamp
FP
FQ
Customized
Spring Cylinder
DWA/DWB

542


s_wahl
WAHLTEC


	Link Lever for LM
	Link Lever for TMA-2
	Link Lever for TMA-1



